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Il Semester B.Com. Examination, November/December 2018
(Semester Scheme) (CBCS) (F + R) (2015-16 and Onwards)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I
Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in
English or in Kannada.

SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5%2=10)
a) What is a linear correlation ?
b) What are the regression lines ?
c) State the components of time series.
d) Expand (y —1)°>=0.
e) What is sampling distribution ?
f) What do you mean by population of universe ?
g) What are independent events ?
SECTION - B
Answer any three of the following questions. Each question carries 6 marks.
(3%6=18)
2. Find the rank correlation for the following data and give your comments :
Marks in Accounts (X) : 84 | 56| 89| 58| 59 | 67| 74| 78
Marks in Maths (Y) : 38 |..689.1 56.|..58.|.:63: hadB8i B |77
3. You are given the following data :
Variables X Y
Mean 47 96
Variance 64 81
Correlation co-efficient 0.36
between X and Y :

Calculate the regression line X on Y and also calculate X when Y = 88.

4, Interpolate the exports made in 2014 from the following using Binomial
expansion method.

Year

2012

2013

2014

2015

2016

2017

Exports (Crores )

210

230

?

280

300

350

P.T.O.
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5. What are different non-probability sampling techniques ?
6. The probability of an Indian having a car is 26%, the probability of Indian having

a house is 40%. The probability of Indian owning a car and a house is 18%.
What is the probability that Indian owns a car or a house ?

SECTION -C
Answer any three of the following question. Each question carries 14 marks.
(3x14=42)
7. From the following table, find out Karl Pearson’s co-efficient of correlation
between age and reading habits of students.

Age : 15 16 17 18 19 20
No. of students : 250 200 150 120 100 80
Regular Readers : 200 150 90 48 30 12

8. From the following data :
a) Calculate two regression equations.
b) Estimate the value of X when Y = 80 and Y when X = 90.

c) Determine the value of correlation co-efficient through the regression
co-efficients. :

X 40 48 52 68 72
Y 20 24 28 36 52
9. The following are the annual profits of a certain business.
Year’s 2011 | 2012 | 2013 2014] 2015] 2016 2017

Profits (in’000’s) 65 77 80 70 85 90 100
a) Fit a straight line trend to these figures by the method of least squares.
b) Estimate the profit for the year 2021.

c) Plot the actual and trend values on a graph.

10. Estimate the steel production for the year 2013 and 2015 with the help of the
following table :

Year : 2010 | 2011| 2012 | 2013 | 2014 | 2015 2016

Steel Production
(in 000 tonnes)

150 180 220 ? 330 ? 450

11. The following are the annual premium charged by an Insurance company for
a policy of Rs. 1,000. Estimate the premium payable at the age of 26 by using
Newton’s method.

Age (in years) 20 ok = = =
Premium (3)
(for % 1,000 policy) 2832630 | 35 42
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a) wotie D3Y BRI (OEAONT®) RBHOLIOT DOTTEI ?
b) &03eP03 BesdndorsSesd 2 '
C) AOOIT FTEIoD 0N E.
d) am=) 5o% (y—1)°=0.
e) [NTWO VSTF OTTERD 7
f) it eRdnessnd FRnms errdsed ?
9) B30, P DoTTE ?
TIN — W
30T CIRYIRTTR Tt BINV wuOR. B8 Tt € woBrib. (3%6=18)
2. 39508 QWINPT Jeed A% AOLIOTTR) TORIBROND 302 73,35, IR,
ﬁ%m%dgﬁ eoznsd (X) : 84 | 56| 89 58 it e e s il i bl U
ﬁ?égm%dc?ﬁ woensd (Y):| 38| 69| 56 | 58 63 L 8L 87 L/
3. 3Rort 9N LFIMIRY, VeFRNT -
30 X Y
yjeprite) 47 96
zpﬁdé 64 81
XZRY nv S@008 Amgowos 636
BT :

X @B Y I HoBodod ﬁémeﬁdsaﬁs:g FoBIGLBOWD, Toriodde, Y = 88 wﬁm'%ﬁ, X3

BSoDRY BomEBOWE.

4. 893 DFONOS MRLEDE' HFOR OMIBE, 2014 e FRFH TPy FoREEWR.
wRE 2012 2013 | 2014 2015 2016 2017
d@ R0 TR, neY. 210 230 v 280 300 350

5. RowRReon3oher Ha% SRE0 203RE: IR 7

6. 0.0, TROIOLR TURY FPoOTR RosRecDHS Feaw 26, Bodchd, Fponds
RoBmReons 363 40. T0R) TR F F0RIR BRCOTR Ropdechs Seaz 18,

BINTO LTI FoTD e B0 BR0NTIN BoLIRRec3B030eR0 9
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: TN = X
FPB0R CINT)TIORTH AT TIRR wvgon. B8 TIR BOToL, @osNEd. (3x14=42)
7. 89803 Bedo00T WTPFNCOT SR BB LB DAL QTE RBROWOT

RBRILBTI) TS F LODT RIS DPSEE, FoR&BOWD.

sﬁaﬁamﬁ 15 16 17 18 19 20
NI, PENG z;”os% : 250 200 150 120 100 80
VoW LTHNTH : 200 150 90 48 30 12
8. 350 FTNYoss
a) A0 &oOFOD :dmeﬁdsarf@a'igt FOTOLROD.
b) Y=80amnXs Wdods), =B X = 90 QRN Y3 TNy, ok,
C) &OBOFOD ABRILBNY BT FBH0OT ROEIBRRD. ORI BCWD.
X 40 48 52 68 72
Y 20 24 28 36 52
9. #8503 3N, é@@ R VHITE TS SOPRTINGS,
SR 2011| 2012| 2013 | 2014 | 2015| 2016| 2017
SN (000 Se. R99) | 65 | 77 | 80 | 70 | 85 | 90 | 100
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C) T I FF RPN, Jeem SO 1O

20T ST Beadod g’aﬁﬂgodaafgt BRODD.

10. 3R ﬁm%dm ﬁ%oaoocﬁ 2013 ng 2015 Se IR Ree® w%dﬁodaﬁgt 20TV WNE.
TR : 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
ngc:f LUSITI ;

w 1 1 220 9 ? 4
(000 e 50 80 2 330 50
11. de. 1,000 r¢ OR OR» FoBRCWET DPREAMOT TO&FD 800N Q[T

3950m083. 26 Fe VOVAFY, Feded E00D0RY, T, EITORC DEOVROT LoTRd
RN,

TR ([RFAYY ) 20 25 30 35 40

&,0800300 (8. RYS, )

2%, LaisRonn 23 26 30 35 42




